LADHFED Mk - Rk

LAOHE ik - ik

B E M PR - PR,
[ 1] 3(2x—y)—2(x+2y) (1] 4x—7y
(BKH I 2002 4-FE) 3(2x—y)—2(x+2y)
=6x—3y—2x—4y
=4x—"Ty
(R 2] 2(3x—y)—3(x—2y) [f12]  3x+4y
(IR 2002 %) 2(3x—y)—3(x—2y)
=6x—2y—3x+6y
=6x—3x—2y+6y
=3x+4y
[ 3] 4(x—y)+3(x+5y) [[3] 7x+11ly
(AR 2002 4JE) 4(x—y)+3(x+5y)
=T7x+11y
(R 4] 3a+8b+2(a—4b) (4]  5a
(FZER 2002 ) 3a+8b+2(a—4b)
=3a+8b+2a—8b
=ba
(1% 5] 9a—5b—(a—6b) (5] 8at+b
(H#HD 2002 4R %) 9a—>5b—(a—6b)
=9a—5b—a+6b
=8a+tb
[ 6] I+ Ty+3—2(x+2y—1) (6] 7x+3y+5
(ILAL 2002 4 ) 9x+Ty+3—2(x+2y—1)
=9x+7y+3—2x—4y+2
=Tx+3y+5
[ 7] 3(2x+y)—4(x—y) [R7] 2x+ Ty
(EBFIR 2002 4EJ%) 3(2x+y)—4(x—y)
=6x+3y—4x+4y
=2x+Ty
[# 8] 2(4x+y)—y [[F18]  8x+y
(ZZRIEL 2002 4EFE) 2(4x+y)—y
=8x+2y—y
=8x+y
[R19] (6x—3y)—(x—Ty) (9]  Bx+4y
(5% 2002 ) (6x—3y)—(x—Ty)
=6x—3y—x+Ty
=bx+4y
[ 10] 2(3x—y)—(4x+y) [ 10] 2x—3y
(FN 2002 ) 2(3x—y)— (4x+y)
=6x—2y—4x—y

=2x—3y




[ 11]  4(2x—3y)—(Bx+y) [ 11] 5x—13y

(e B 2002 4R )

[R12] (8x—y)—3(x+y) [ 12] b5x—4y

(Fh#BIR 2002 4F %) (8x—y)—3(x+y)
=8x—y—3x—3y
=bx—4y

[(313]  —3(a—5b)+2(—2a—3b) [((313] —7a+9b

(BKHIIR 2003 4RE) —3(a—5b)+2(—2a—3b)

=—Ta+9b
[ 14]  3(3x—2y)+2(—5x+4y) [[H14] —x+2y

(KB 2003 1) 3(3x—2y) +2(—5x+4y)
=9x—6y—10x+ 8y
=9x—10x—6y+8y
=—x+2y

[ 15] 2(x+5y)—(x+y) [ 15] «x+9y

(FFAK: 2003 4E%)

[[16]  2(3a—b)—3(2a—b) [[F16] &

(REFB IR 2003 4R %) 2(3a—b)—3(2a—b)
=6a—2b—6a+3b
=b

[ 17]  3(—2x+3y)—2(5x—y) [[f117] —16x+11y

(TEER 2003 ) 3(—2x+3y)—2(5x—y)
=—6x1+9y—10x+2y
=—16x+11y

[[518]  4(a+b)— (8a—5b) [[H118] —4a+9b

CRALAD 2003 %) 4(a+b)—(8a—>5b)
=4a+4b—8a+5b
=—4a+9b

[ 19]  7(x—2y)—4(x—y) [[f119] 3x—10y

(1AL 2003 ) T(x—2y)—4(x—y)
=Tx—14y—4x+4y
=3x—10y

[[#120]  7(a+2b)—2(3a—b) [[8120] a+16b

(ZHIL 2003 ) 7(a+2b)—2(3a—b)
=T7a+14b—6a+2b
=a+16b

[[f21] 2(a+2b)—(3b—a) [[f121] 3a+b

(BeE I 2003 4EJE) 2(a+2b)—(3b—a)
=2a+4b—3b+a
=2a+a+4b—3b

=3a t+b




[[#22]  4(3a+b)—6(atbd) [ 22] 6a—2b
(RBRIF 2003 4R 14 41) 4(3a+b)—6(atb)
=12a+4b—6a—6b
=6a—2b
[23]  2(x+4y)—8y [ 23] 2«
(ZREJ 2003 £R) 2(x+4y)—8y
=2x+8y—8y
=2x
[[#24]  (2x—9y)+(x+2y) ([ 24] 3x—7Ty
(Ji F5 % 2003 £REE) (2x—9y)+ (x+2y)
=2x—9y+x+2y
=3x—Ty
(f25]  Bx—y)—2(x—4y) (f25] x+7y
(RIFE 2003 4£1%) (Bx—y)—2(x—4y)
=3x—y—2x+8y
=3x—2x—y+8y
=x+Ty
[[f126]  (Bx+3y)—(2x—y) [ 26] 3x+4y
(JhHE IR 2003 ) (5x+3y)—(2x—y)
=bx+3y—2x+y
=3x+4y
[[F27]  2(2x—3y)—3(3x—2y) [[F27] —b5«x
(IR 2004 ) 4x—6y—9x+6y=—>hx
[ 28]  6(2a+4b)—8(a+3b) [ 28] 4a
(BER IR 2004 4JE) 12a—8a+24b—24b=4a
[ 29]  3(4a—5b)—2(7a+b) [ 29] —2a—17b
(FHEI 2004 4EJ) 12a—15b—14a—2b
=—2a—17b
[[530] —a+4b—5(a—b) [[f130] —6a+9b
(CRALAD 2004 ) —a+4b—5a+5b=—6a+9b
[(M31]  2(x—2y)—(x+y) [[f181] x—5y
(@R 2004 ) 2x—4y—x—y=x—5y
[[532]  4(2x—y)+3(x—2y) [[532] 11x—10y

(IUELE 2004 )

8x—4y+3x—6y=11x—10y




[33] 3(2a—b)—5a [[F133] a—3b

(ZHEIR 2004 )
[[H184]  5(a—2b) +9b [[f184] b5a—b

(BB I 2004 ) 5a—10b+9b=5a—b
[fH35] 2x+6y+5x—y [[H185] 7x+5y

(KBRFF 2004 45 #H1)

[ 36] x+2(6x+y) [ 36] 13x+2y

(ZZR I 2004 4EFE) x+12x+2y=13x+2y
[[537]  9x—2y—(Bx+y) [[537] 4x—3y

(FRaEf L 2004 4R 1) 9x—2y—bx—y=4x—3y
[[38]  2(5x—y)—3(2x—y) [ 38] 4x+y

(SHEUR 2004 4EFE) 10x—2y—6x+3y=4x+y
[[539] 2(—x+y)+5(x+y—1) [[39] 3x+7y—5

(BARIL 2004 4EFE) —2x+2y+5x+5y—5

=3x+7y—5

[ 40]  (9x + 4y) —3(2x + y) [[¥40] 3x+y

(L5 2004 ) 9x+4y—6x—3y=3x+y
[ 41]  3(a+2b—1)+2(a—3b) (¥ 41] 5a—3

(R 2004 ) 3a+6b—3+2a—6b=5a—3
[[f142]  (3x—4y)—2(x—3y) [ 42] x+2y

(e R 2004 4R #%1)

[H43] 3(a+2b) — 4(a — b) [[H 43] —a+10b

(BRI 2004 )

3a+6b—4a+4b=—a+10b




[[H44]  2(x+y)—(x—y) [ 44] x+3y

(IR 2004 1) 2x+2y—x+y=x+3y
[[f45]  2@x—y)—3(x—2y) [ 45] x+4y

(e 9 Ik 2005 42%)
[ 46]  —3(x+2y)+2(5x—y) [[# 46] 7x—8y

(FRYEIE 2005 4EJE) —3(x+2y)+2(5x—y)
=—3x—6y+10x—2y
=Tx—8y

[ 47]  2(4x—y)+3(x+y) [ 47] 11x+y

(MGA I 2005 4EJE)

[ 48]  4(2x—3y)—6(x—2y) [ 48] 2«

(REFS IR 2005 4F %) 4(2x—3y) —6(x—2y)
=8x—12y—6x+ 12y
=2x

[ 49]  10a+7b—3(4a—b) [[¥149] —2a+100

(FHEI 2005 ) 10a+7b—3(4a—b)
=10a+7b—12a+3b
=—2a+10b

[[550] a+7b—2(3a—b) [[50] —b5a+9b

(RAEUER 2005 4EF) a+7b—2(3a—1b)
=ag+7b—6a+2b
=—5a1+9b

[[M51] 24x+y)—3(x—2y) [[f151] 5x+8y

CHa I 2005 4E ) 2(4x+y)—3(x—2y)
=8x+2y—3x+6y
=bx+8y

[[552]  2(2x—y)—3(x+y) [[H52] x—5y

(FEFFIR 2005 1) 22x—y)—3(x+y)
=4x—2y—3x—3y
=x—5y

[[553] 3@x+y+1)+4(x—2y—1) [[53] 7x—5y—1

(ILALR 2005 1) 3x+y+1)+4(x—2y—1)
=3x+3y+3+4x—8y—4
=Tx—5y—1

[ 54]  3(3a—2b)—(a+5b) [[¥54] 8a—11b

(ZEFEIR 2005 ) 3(3a—2b)—(a+5b)

=9a—6b—a—5b

=8a—11b




[ 55] 6a+5b—4(a—b) [[%155] 2a+9b
(CKPFRF 2005 4R wif) 6a+5b—4(a—b)
=6a+5b—4a+4b
=2a+9b
[[56]  3(3x+y)—Tx [[556] 2x+3y
(ZEI 2005 ) 3(8x+y)—Tx
=9x+3y—Tx
=2x+3y
[[M57] 2Bx—y)+(x+Ty) [ 57] 7x+5y
(iR 2005 4E1E) 2(3x—y)+(x+Ty)
=6x—2y+x+Ty
=Tx+5y
[ 58]  (2a+3b)—(a—2b) [ 58] a+5b
(FE IR 2005 A1) (2a+3b)—(a—2b)
=2a+3b—a+2b
=a+5bb
[[M59]  2(3x+y)—(x—y) [ 59] 5x+3y
(F) L 2005 4EFE) 28x+y)—(x—y)
=6x+2y—x+y
=bx+3y
[160]  5(a—3b+2)—3(a—2b) [ 60] 2a—9b+10
(E4R IR 2005 ) 5(a—3b+2)—3(a—2b)
=5a—15b+10—3a+6b
=2a—9b+10
[ 61]  3(x—2y)—(—5x+3y) [[f161] 8x—9y
(Fe5 I 2005 4EFE)
[[62] 3(4a+b)—(Ta—b) [ 62] bHa+4b
(REAIR 2005 4-JE) 12a+3b—T7a+b
=ba+4b
[[563]  (x—4y)x3x (f63] 3x2—12xy
(dt#EiE 2006 4EJE)
[ 64] 2 (x—3y)—3 (—2x+y) [ 64] 8x—9y
(FRI I 2006 4EFE)
[f65] 3@Bx—y)—(2x—y) [f65] 7x—2y

(Wi 2006 )




[ 66] —4a+7b—2(3a+2b) [ 66] —10a+3b
(TR 2006 1)
[ 67]  3(5a+b)—(Ta—4b) [ 67] 8a+7b
(F#ER 2006 4E )
[ 68] 3(x+2y)—2(2x—y) [RH68] —x+8y
(fR IR 2006 4EJE)
[ 69] 9(x—y)—7(2x—y) [R169] —5x—2y
(IIALE 2006 £E1E) Ix—y)—7(2x—y)
=9x—9y—14x+ Ty
=—bx—2y
[ 70] 8a—7b—2 (a+3b) [ 70] 6a—13b
(EBF I 2006 ) 8a—7b—2(a+3b)
=8a—7b—2a—6b
=8a—2a—Tb—6b
=6a—13b
[ 71]  (5a—4b)—2 (a—2b) ([ 71] 3a
(ZHR 2006 4FFE)
[[572] 2 (x+3y)—(6x—5y) [[572] —4x+11y
(RERL 2006 4EJE)
[73] 2(83a—1)—(a+2) [[173] 5a — 4
CEBAF 2006 4EJE)
[ 74] 6a+3b—(3a—5b) [ 74] 3a+8b
(KBFF 2006 4EJE #%1)
[ 75] 5x+2y—2(3x—y) [[H75] —x+4y
(LRIE 2006 EE)
[[76] —3(2a—4b)+5 (a—2b) [ 76] —a+2b

(Fnegk L2 2006 4)




(771 3(x+1)—2(x—4) [ 77] x+11
(BHEUR 2006 4EFE)
[ 78]  3(x—2y)—2(x—3y+1) [ 78] x—2
(BARIL 2006 4EFE)
[[179] 3@Ba—b)—2(@—2b) [[179] 7a+b
([ 111 I 2006 4F )
[ 80] 3 (x+2y)—(2x+7Ty) [[H80] x—y
(AR 2006 A1) 3(x+2y)—Q2x+7y)
=3x+6y—2x—Ty
=x—y
[f81] 2(—3x+4)+(5Bx—2) [ 81] —x+6
(I B 2006 4EFE)
(14 82] 3(2x—y+2)+2(x+y—3) [R]82] 8x—y
(FIIE 2006 4EJE)
[[583] 4(©@x—5y)—3(x—4y—1) [183] 5x—8y+3
(ZE I 2006 4EFE)
[[f184] 3 (a+3)—(2a+4) [ 84] a+5 FiE 5+a
(F& i I 2006 )
[185] 2(a—2b)—3(2a—3b) [[¥185] —4a+5b
(e8I 2006 4E 14340)
[186] (a+3b)+(4a—2b) [ 86] b5a+b
(EIF I 2006 4EFE)
[87] 5a—7—(—2a+1) [[187] 7a—8

(FEACIEL 2006 4EFE)




[[88] 5(2a—b)—2 (4a+b) [ 88] 2a—7b
(EIE IR 2006 4£JE)
[89] 3(@@+9)—6(7T—5a) [ 89] 33a—15
(EEVLRS I 2006 )
[[190] (8x—5y)—2(3x+y) [[F90] 2x—7y
(FPHEIR 2006 4E %) (8x—5y)—2(3x+y)
=8x—Hy—6x—2y
=8x—6x—5y—2y
=2x—"Ty
[ 91]  7(a—2b)—2(3a—4b) [[f91] a—6b
(EYIR 2007 1)
[FH92] 3(x+2y)— (5x—y) [92] —2x+7y
(FKH R 2007 4£J%)
[F4 93] 4(2x—y)— (x—4y) [f193] 7x
(FRYEIE 2007 1)
[[f94]  3(2x—y)—4(x+y) [[994] 2x—7y
(THEL 2007 4EJE)
[[195]  9a+b—6(2a—b) (1 95] —8at7b
(RALHL 2007 4EJ)
[ 96]  2(3x—2y)—3(x—y) [f96] 3x—y
(FEIFIR 2007 1)
[[97]  —(8x—T7y)+2(5x+y) [ 97] 2x+9y
(IUALEL 2007 4F%) —(8x—Ty)+2(5x+y)
=—8x+7y+10x+2y
=2x+9y
[[98]  2(3a—b)—(2a+17b) [ 98] 4a—9b

(ZHEE 2007 4 5)




[[199]  4b+3(2a—0) [ 99] 6a+b
(BeE L 2007 4EJE) 4b+3(2a—b)
=4b+6a—3b
=6a+4b—3b
=6a+b
[[5100] a—2b+4a—6b [[f1100]  5a—8b
(CKBRIF 2007 4R #%H1)
[[5101] 2(a+3b)—3(5a—b) [fH101] —13a+9b
(KRBT 2007 42 #%3)
[[f102] 2(4x+y)—(x—4y) [ 102]  7x+6y
(R 2007 ) 2(4x+y)— (x—4y)
=8x+2y—x+4y
=T7x+6y
[ 103] (5x+8y)+2(x—3y) [ 103]  7x+2y
(LB 2007 4EJ)
[ 104] 3@x—4y+3)—2(x—5y—7) ([ 104]  4x—2y+23
(ZhE IR 2007 )
[ 105] (x+2y)—(—x+y) [ 105] 2x+y
(B 2007 4E5 %)
[ 106] 2(a—2b)+3b [[f1106]  2a—b
(EIF I 2007 4EJ£)
[[}1107] Bx+4y—2(38y—x) [[[107)]  7x—2y
(REAR IR 2007 A )
[ 108] 3(a—2b)—2(a+b) [ 108] a—8b
(‘EIF I 2007 4EJE)
[[f109] 2(6x—5y)—3(3x+Ty) [ 109] 3x—31ly

(AbfEsE 2008 4£1E)




[ 110] 2(x+y)—5(x—y) [ 110] —3x+7y
(FKH I 2008 4EJE)
[ 111] 3(a+2b)—4(a—b) [f111]  —a+10b
(f& = I 2008 4EE)
[ 112] —5(x—2y)+3(x—3y) [ 112]) —2x+y
(IR 2008 4EJ%)
[M118]  (x+ty)—2(x—y) [M118]  —x+3y
(HiA K 2008 4 )
[[M114] 5a+9b—3(a+4b) [ 114] 2a—3b
(B AUER 2008 4 )
[ 115] (2x—3y)—4(—2x+y) [ 115]  10x—7Ty
(f& IR 2008 4EJ%)
[f116] 2(4x—y)—(Tx—5y) [fI116]  x+3y
(I . J7% 2008 4R )
[ 117]  4(Ba—b)—(—3a+4b) [R117] 15a—8b
(ZHEI 2008 )
[ 118] 9a—2b—(a—5b) [[f1118]  8a+3b
(CKBRFF 2008 4R %)
[[}1119] Ba+b—2(3a—0) [ 119] —a+3b
(KRB 2008 4R HiTH) 5a+b—2 (3a—b)
=ba+b—6a+2b
=b5a—6a+b+2b
=—a+3b
[f120] 3(x+2y)+2(x—y) [f120]  Bx+4y

(ZZR IR 2008 4 )




[ 121] (6x—Ty)—(dx+y) [[H121] 2x—8y

(Fnak L B 2008 ) (6x—Ty)— (4x+y)
=6x—Ty—4x—y
=2x—8y

[ 122]) 8(x+y)—5x—y) (¥ 122]  3x+13y
(5 B 2008 4EFE)

[ 123] 3(2a—b)—(5a+b) [ 123] a—4b
(FJIE 2008 4EJ)

[ 124] 2(—a+5b—3)—(3a+7b—6) [ 124] —5a+3b
(ZE I 2008 4EFE)

[ 125] 3a+b+2(a—2b) [[*1125]  5a—3b
(IR 2008 4EFE)

[} 126] —(2a+b)+3(a—b) [[H126] a—4b
(‘EIF I 2008 4EJ)

[[M127] 5(2x—y)—2 (Bx+y) [ 127]  4x—"Ty
(FRI L 2009 4EFE)

[[H128] 3(x+2y)+6 (x—) [ 128] 9x
(BEFS I 2009 4E 1)

[ 129] 2(x—4y)—(10x+9y) [[H129] —8x—17y
(FHEI 2009 4EJE)

[[f130] a+6b—2(5a—0b) [ 130] —9a-+8b
(#2009 4R %)

[} 131] 2(4a—3b)—3(a—2b) [ 131)] 5a

CHriE I 2009 4 FE)




[[H132)] a+2b—3(a—b) [[f1132]  —2a+50b
(1 2009 4EJE)

[ 133] 4(x—3y+2)—9(2x—y) [FRH 133] —14x—3y+8
(R F IR 2009 4E )

[fH134] 2(x—4y+3)+(Bx—y—4) [ 134]  B5x—9y+2

(IUALE 2009 4E ) 2 (x—4y+3)+Bx—y—4)
=2x—8y+6+3x—y—4
=2x+3x—8y—y+6—4

=5x—9y+2
[[H135] a—b—3(a—2b) [R 135] —2a-+5b
(FBFIL 2009 )
[[H136] 3(2a—b)—4(a—2b) [R5 136] 2a+5b
(=FIE 2009 4 F)
[[F137] 3(2x+y)—(4x—5y) [ 137] 2x+8y
(BB IR 2009 4 )
[ 138] 5a+3b—(2a—0b) [ 138] 3a+4b
(KBAF 2009 4EFE % H)
[[}1139] 7a—3b—3(a—4b) [} 139]  4a+9b
(KRBT 2009 455 RiT) 7a—3b—3(a—4b)

=T7a—3b—3a+12b
=T7a—3a—3b+12b

=4a+9b

[ 140] 2(x+3y)—(x+4y) [ 140]  x+2y
(R 2009 4FJE)

[ 141] 3(x+5y)+4(2x—3y) [ 141]  11x+3y
(BARIL 2009 4EJE)

[[M142] 3(2a—b)—4(a—b+1) [ 142] 2a+b—4

(LI 2009 4EFE)




[ 143] 2(7x—3y)+(3x+5y) [[H143]  17x—y
(B 2009 4EJE)

[ 144) (x+2y—5)—2(Bx—y—4) [ 144]  —5x+4y+3
(IR 2009 4FJE)

[ 145] 2(3a+b)—5a (5 145] a+2b
(EIf I 2009 4E )

[ 146] 2(2x—5y)—(Tx—9y) [[H146] —3x—y
(KA 2009 4R )

[[M147] 3(2a+b)—2(a—4b) [ 147] 4a+11b
(IR 2009 4F )

[ 148] 3(2x+y)—5(x—3y) [[% 148] x+18y
(ILFZ I 2010 4E5)

[[f149] 3(3x+y)—(x—2y) [[¥149] 8x+5y
(ZW I 2010 4EJE)

[[5150] x—8y—4(x—7Ty) [ 150] —3x+20y
(FZEI 2010 )

[ 151] a—8b—2(a—17b) [[f1151] —a+6b
(RAUHER 2010 4EE)

[ 152]) 3(2a+b)—(a—4b) [ 152) B5a+7b
CBriB I 2010 4E )

[} 153] 2(5x+3y)—T(x—y) [[%153] 38x+13y

(R FH IR 2010 )




[[9154] —5(3x+y)+2(4x—3y) [[H154)] —7x—11y
(IHZLE 2010 4£%) —5(3x+y)+2(4x—3y)
=—15x—5y+8x—6y
=—15x+8x—5y—6y
=—Tx—11ly
[[%155] 3(2a—b)—(3a+b) [ 155] 3a—4b
(EB I 2010 4E)
[[5 156] 3(a+3b)—4a—b [fH156] —a+8b
(CKBRRF 2010 4R wiji)
[[5157] —a+2b+3a—5b [[5157] 2a—3b
(KRBRFF 2010 4EBE 1% H1)
[ 158] 3(2x—y)+2(x+4y) [[¥158] 8x+5y
(R 2010 F)
[ 159] (7Tx—5y)—(2x+y) [[H159] 5x—6y
(FRak LR 2010 A1)
[ 160] 2(4a+b)—3(—2a+b) [ 160] 14a—b
(F 11 I 2010 4EBE)
[ 161)] (6x+7y)—4(x—2y) [} 161] 2x+15y
(LB 2010 4R %)
[ 162] 3(x—2y)+(x+Ty—6) [ 162] 4x+y—6
(E4R IR 2010 4JE)
[[5163] 3(4a—b)—2(a—5b) [[%1163] 10a+7b
(E L 2010 4EFE FiTHD)
[[f164] 3(4x—2y)—2(5x+y) [[%164] 2x—8y

(K3 Ik 2010 4REE)




[ 165] 8(x—y)—(7x—10y) [} 165] x+2y
(REA UL 2010 4 )
[ 166] 4(a—2b)+3(2a—b) [[9166] 10a—11b
(el I 2010 4 )
[ 167] 3(x—2y)+22x+y) [ 167] 7x—4y
(PPHRIR 2010 4EBE) 3(x—2y)+22x+y)
=3x—6y+4x+2y
=3x+4x—6y+2y
=Tx—4y
[[H168] (x—4y)—(6x+5y) [RH168] —5x—9y
(FARE 2011 R %)
[[H9169] 5(a+2b)—2(4a—0b) [ 169] —3a+12b
(& B IR 2011 4E %)
[[170]  2(5x—2y)—(2x—Ty) [ 170] 8x+3y
(KR 2011 42 B)
[ 171) 2x+5y+4(x—y) [ 171)] 6x+y
(WAL 2011 4F)
[ 172] 2(3x—4y)—5(x—2y) [ 172) x+2y
(TR 2011 4EJ A
[[[173] a+6b—2(a—0b) [f9173] —a+8b
(B HER 2011 4E)E)
[ 174] 7x+6y—3(4x—y) [[F174] —5x+9y
(IIZLEL 2011 4E)
[RH175] 4a+b—2(3a—b) [R5 175] —2a+3b

CRBRFF 2011 4REE Fift)




[ 176] 3a—2b—(a—3b) [[}1176] 2a+b
CRBRF 2011 4R #£34)
(#1771  2(3x+y)—(x—5y) (#1771  5x+7y
(R 2011 1)
[} 178] 4(a—2b)—(a+3b) [ 178] 3a—11b
([ LR 2011 4EFE) 4(a—2b)—(a+3b)
=4q0—8b—a—3b
=4a—a—8b—3b
=3a—11b
([ 179]  —2(x+3y)+(5x+y) ([ 179] 3x—5y
(R B 2011 )
[ 180] 2(x—3y—1)+3(x+y—2) [ 180] 5x—3y—8
(R 2011 4R %)
[[F181)] 2(4a+b)—3(3a—b) [ 181] —a+5b
(EIRFE 2011 4R %)
[ 182] (3x+y)—(Bx—y) [ 182] —2x+2y
(HFRRE 2012 4EFE % H)
[[5183] 2a+b 75 3a—b EZDWNZ7EZRDHREN, [[f1183] —a+2b
(BKH I 2012 4R )
[ 184] —2(Bx—y)+5(2x—y) [ 184] 4x—3y
(FRYR 2012 )
[ 185] 8a+b—(a—T7b) [ 185] 7a+8b
(R AUHER 2012 4E %)
[[f186] 5(x—2y)—7(—2x—y) [ 186] 19x—3y

(IR 2012 4RE)




[ 187] —3(a—4b)+4(2a—0b) [[%1187] 5a+8b
(ZHIR 2012 4EJ%)
[ 188] 3a—4b+2(a+3b) [ 188] 5a+2b
(KBRFF 2012 4EF5 i)
[ 189] 2(a—3b)+a+8b [ 189] 3a+2b
(KBRFF 2012 4EFE % H1)
[RH190] Bx—4(x—2y) [[H190] x+8y
(ZZR I 2012 4E )
[ 191)] (3x+4y)—(2x—3y) [ 191) x+7y
(P LR 2012 4E7)
[ 192] 3(2a—3b)—(a—b) [[¥1192] 5a—8b
(F 11 I 2012 4E )
[[f193] (5x—y)—3(x—5y) [ 193] 2x+14y
(B 2012 4EFE)
[[}1194] 3(—2a—b+1)—2(a—4b) [ 194] —8a+5b+3
(g 2012 )
[ 195] —2(a—2b)+3(b—4a) [[f1195] —14a+7b
(R 2012 4R —fi%)
[[f196] 3(2a—b)+2(a—2b) [¥1196] 8a—17b
(KR 2012 4R %)
[ 197] —2(a+b)+(3a—2b) [[}197] a—4b

(ETIRF IR 2012 42 FE)




[F4 198]

3(x—2y)—2(4x—3y)

(PRI 2012 4E )

[ 198]

—bx

[[¥ 199]

5(a—2b)+2(a+0)

(FARIE 2018 421 1410

[[4 199]

Ta—8b
5(a—2b)+2(a+b)
=5a—10b+2a+2
b=T7a—8b

[ 200]

5a+2b—(3a—b)

(CEFIR 2013 4F)

[ 200]

2a+3b
5a+2b—(3a—0b)
=ba+2b—3a+b
=ba—3a+2b+b
=2a+3b

[[F 201]

a—32a+b)+7b

(BB 2013 4R %)

[[F 201]

—b5a+4b
a—3Q2a+b)+7b
=a—6a—3b+7b
=—bat4b

[ 202]

52x—y)—3(x—2y)

(FKIEIR 2013 4 )

[ 202]

Tx+y
5@2x—y)—3(x—2y)
=10x—5y—3x+6y
=Tx+y

[ 203]

3ab—ab

(FEE IR 2013 )

[ 203]

2ab

[ 204]

3(2a—b)—(a—30b)

(FZER 2013 42 14 H1)

[ 204]

5a
32a—b)—(a—3b)
=6a—3b—a+3b
=ba

[ 205]

9(atb)—(at+3b)

(RAUHR 2013 £R)

[ 205]

8a+6b
9(a+b)—(at+3b)
=9a+9b—a—3b
=8a+6b

[ 206]

3(3a—2b)—4(a—b)

G 2013 4£)%)

[[4 206]

5a—2b
3(3a—2b)—4(a—Db)
=9a—6b—4a+4b
=b5a—2b

[ 207])

5(2a— 3b)— 3(a— 2b)

(ZFEIR 2013 %)

[ 207]

Ta—9b
52a—3b)—3(a—2b)
=10a—15b—3a+6b
=T7a—9b

[ 208]

2(8x—y)—(7Tx—6y)

(IR 2013 4E)%)

[ 208]

—x+4y
2(8x—y)—(Tx—6y)
=6x—2y—Tx+6y
=—xt+4y




[} 209] 7a—2b—2(a+3b) [ 209] 5a—8b
(CKFSF 2013 4R mify) 7a—2b—2(a+3b)
=T7a—2b—2a—6b
=5a—8b
[ 210] —2a+3b+5a—4b [[f1210] 38a—b
(KB 2013 45 #514) —2a+3b+5a—4b
=3a—b
[ 211] 3(2a+b)—4(a—2b) [ 211] 2a+11b
(R 2013 4-F%) 3(2a+b)—4(a—2b)
=6a+3b—4a+8b
=6a—4a+3b+8b
=2a+11b
[[f1212]  6(x+3y)+5(2x—y) [[f1212] 16x+13y
(iR 2013 A7) 6(x+3y)+5(2x—y)
=6x+18y+10x—5y
=16x+13y
[ 213] 38(x—2y+2)—(x—6y—3) [R1213] 2x+9
(B 2013 4 %) 3(x—2y+2)—(x—6y—3)
=3x—6y+6—x+6y+3
=2x+9
[ 214] 3(2x+y)+2(x—3y) [[H214] 8x—3y
(B IR 2013 ) 3(2x+y)+2(x—3y)
=6x+3y+2x—6y
=8x—3y
(R 215]  7x2—4x—x2+9x [[f1215]  6x2+5x
(F L 2013 4R %) Tx? — dx—x*+9x
=7 —x?— 4x+9x
=6x>+b5x
[[f216] 3(x—2y)—2(5x—y) [[f216] —7x—4y
(B 2013 4R #£3) 3(x—2y)—2(5x—y)
=3x—6y—10x+2y
=—Tx—4y
[ 217)] (4x+3y)—(—x+5y) [ 217] 5x—2y
(IR 2013 4R —f%) (4x+3y)—(—x+5y)
=4x+3y+x—>5y
=5x—2y
[ 218] 2(5a+3b)—(3a—5b) [ 218] 7a+11b
(Ko 2013 4£%) 2(5a+3b)—(3a—5b)
=10a+6b—3a+5b
=T7a+11b
[[f219] 2(—a+b)—(Ta—5b) [ 219] —9a+7b

(EIRF IR 2013 4RHE)

2(—a+b)—(7Ta—>5b)
—2a+2b—T7a+5b
—9a+7b




[ 220] 2(2a—3b)+(a—5b) [[220] 5a—11b
(tfgiE 2014 1) 2(2a—3b)+ (a—5b)
=4a—6b+a—5b=5a—11b
[[f221] (4x—y)—2(x—5y) [ 221] 2x+9y
(HFRARE 2014 £ AiH) (4x—y)—2(x—5y)
=4x—y—2x+10y=2x+9y
[ 222]  2(a+3b)—(a—4b) [[H222] a+10b
(EHRIE 2014 R % 1H) 2(a+3b)—(a—4b)
=2a+6b—a+4b=a+10b
[RH223] (Ba—b)—2(a+3b) [ 223] 3a—7b
(f& IR 2014 1) (5a—b)—2(a+3b)
=5a—b—2a—6b=3a—"Tb
[ 224] 3(—3x+y)+2(5x—2y) [ 224)] x—y
(R 2014 4RE) 3(—3x+y)+2(5x—2y)
=—9x+3y+10x—4y=x—y
[R5 225] GGalbj Couth [R5 225] —2b
32 6(ia—ibj—2a+b
(THEE 2014 4 %) 3 2
=2a—3b—2a+b=—2b
[RH226] 9a+5b—(8a—b) [[226] a+6b
(CRAEUER 2014 ) 9a+5b—(8a—Db)
=9a+5b—8a+b=a+6b
[[H227]  3(x—y)—2(5x—2y) [ 227] 2x+y
(LALUR 2014 £R) 3(4x—y)—2(5x—2y)
=12x—3y—10x+4y
=2x+y
[ 228] 2(2a—3b)—(a—5b) [ 228] 3a—0b
(I B0 2014 4EJE) 2(2a—3b)—(a—5b)
=4a—6b—a+5b=3a—0b
[ 229]  2(a+3b)—3(a—2b) ([1229] —a+12b
(ZHER 2014 £5) 2(a+3b)—3(a—2b)
=2a+6b—3a+6b
=—q+12b6
[ 230] 3(2x—y)—2(x+2y) [ 230] 4x—"Ty

(KRBT 2014 A4EEE FiT)

32x—y)—2(x+2y)
=6x—3y—2x—4y=4x—Ty




[ 231] 6a+4b—(3a—0) [[f1231] 3a+5b
(CKBF 2014 455 #£34) 6a+4b—(3a—b)
=6a+4b—3a+b=3a+5b
[ 232] Bx+2y)+2(—4x+y) (¥ 232] —8x+12y
(R 2014 ) 5(x+2y)+2(—4x+y)
=bx+10y—8x+ 2y
=—3x+12y
[ 233] 8(x—y)+6(x—2y) [[5 233] 14x—20y
(Fnak LR 2014 4F1E) 8(x—y)+6(x—2y)
=8x—8y+6x—12y
=14x—20y
[[H234] 5a—3b—2(b—2a) [[H234] 9a—50b
(BHUR 2014 ) 5a—3b—2(b—2a)
=b5a—3b—2b+4a=9a—5b
[[%235] 3(2a—b)—2(a—3b) [ 235] 4a+3b
([ 110 2014 4EFE —fi%) 3(2a—b)—2(a—3b)
=6a—3b—2a+6b=4a+3b
[ 236] 3(2x—y)—(x+5y) [ 236] 5x—8y
(A 2014 ) 3(2x—y)— (x+5y)
=6x—3y—x—5Hy=56x—8y
[[f237] (4a+b)—2(a—0) [ 237] 2a+3b
(FINE 2014 1) (4a+b)—2(a—b)
=4a+b—2a+2b=2a+3b
[} 238] 2(2a—b+4)—(a—2b+3) [ 238] 3a+5
(E4R IR 2014 ) 2(2a—b+4)—(a—2b+3)
=4q—2b+8—a+2b—3
=3a+5
[ 239] 5@2x—y)—2 (2x—y) [ 239] 6x—3y
(F%nIR 2014 £ #%1) 5(2x—y)—2(2x—y)
=10x—5y—4x+2y
=6x—3y
[[#] 240] 7x—6y+4(y—x) [ 240] 3x—2y
(REAIL 2014 4EJE) Tx—6y+4(y—x)
=Tx—6y+4y—4x=3x—2y
[ 241] 3(2a—b)—4(a—3b) [ 241] 2a+9b

(BRI 2014 42F)

3(2a—b)—4(a—3b)
=6a—3b—4a+12b
=2a+9b




[ 242]

2(x+3y)—(2x—y)
(FRIRIR 2015 4EJ%)

[ 242]

Ty
2(x+3y)—(2x—y)
=2x+6y—2x+y="Ty

[t 243]

4(2x—y)—3(x+y)
(BRI 2015 4EE)

[ 243]

5x— Ty

4(2x—y)—3(x+y)
=8x—4y—3x—3y
=8x—3x—4y—3y=56x—"Ty

[ 244])

2(8x+y)—3(x—2y)
(FEER 2015 £ %)

[ 244])

3x+ 8y
2(8x+y)—3(x—2y)
=6x+2y—3x+6y=3x+8y

[ 245]

9a+4b—(a—3b)
(HHR 2015 4R)

[ 245]

8a+7b
9a+4b—(a—3b)
=9a+4b—a+3b=8a+7b

[t 246]

—T(a+2 b)+23 a—b)
(ZHE 2015 4Ef)

[ 246]

—a—16b

—T7(a+2b)+2(3a—b)
=—Ta—14b+6a—2b
=—a—16b

[ 247]

4(x+2y)— (6x+9y)
(B 2015 4RJ)

[ 247]

—2x—y
4(x+2y)— (6x+9y)
=4x+8y—6x—9y
=—2x—y

[F4 248]

7 4
12| —x——y | —4@2x—
(4X 3y) (2x—"Ty)

(REBIF 2015 4FHE AiTHA)

[ 248]

13x+12y

7 4
12 —X——vy |-4(@2x -7
(4x 3y) @2x-17y)

=21x—16y—8x+ 28y
=13x+12y

[ 249]

8a—b—5(2a—0b)
CKBFF 2015 425 RijHA)

[ 249]

—2a+4b
8a—b—5(2a—Db)
=8a—b—10a+5b
=—2a+4b

[ 250]

(7Ta+b)—5(a—2b)
CFrag L 2015 4R %)

[ 250]

2a+11b
(7Ta+b)—5(a—2b)
=T7a+b—5a+10b
=2a+11b

[[F 251])

2(3a+b)—(a—2b)
(R LR 2015 4R —fik)

[ 251]

5a+4b
2(8a+b)—(a—2b)
=6at2b—a+2b=5a+4b

[ 252]

(Bx—2y)+5(x—4y)
(LB 2015 4EFE)

[ 252]

8x—22y
(Bx—2y)+5(x—4y)
=3x—2y+5x—20y
=3x+5x—2y—20y
=8x—22y




[ 253] 3(x—2y)—4(2 x—3y) [[%1253] —5x+6y
(FIEIL 2015 4RE) 3(x—2y)—4(2x—3y)
=3x—6y—8x+12y
=—bx+6y
[[%254] 3(2a—3b)—(a—5b) [ 254] 5a—4b
(K3 2015 ) 3(2a—3b)—(a—5b)
=6a—9b—a+5b=5a—4b
[ 255] —(a—b)+2(3a+b) [} 255] Ba+3b
(‘FIF I 2015 4FJ) —(a—b)+2(3a+0b)
=—q+tbt6a+2b=5a+3b
[[1256] (7Tx—5y)—(—2x+3y) [f256] 9x—8y
(R 2015 £R1E) (Tx—5y) —(—2x+3y)
=Tx—5y+2x—3y
=Tx+2x—5y—3y=9x—8y
[[M257]  3(2x+y)—5(x+y) [ 257] x—2y
(IR 2016 ) 3(2x+y)—5(x+y)
=6x+3y—bx—5y=x—2y
[[258] 2@2x—y)—(x—y) [ 258] 3x—y
(B IR 2016 4£JE) 2(2x—y)—(x—y)
=4x—2y—x+y=3x—y
[F5 259] (1 2 ) 1 [#1259] x—3y
3 —X——=y|——=—x—y
2" 3 2 (1 2 ) _
3| —x——Yy —x—y
(TIER 2016 )% 143) 2 3
ng*Zy*—x*ny*Sy
[ 260] 7a—b—5(a—2b) [ 260] 2a+9b
(AL 2016 ) 7a—b—5(a—2b)
=T7a—b—5a+10b=2a+9b
[ 261] 4(2a—3b)—2(a—2b) [[f1261] 6a—8b
CHB IR 2016 %) 4(2a—3b)—2(a—2b)
=8a—12b—2a+4b
=6a—8b
[ 262] 2(3x—y)—(4x—3y) [ 262] 2x+y
(FEILE 2016 4FE) 2(3x—y) — (4x—3y)
=6x—2y—4x+3y=2x+y
[} 263] —2(5x—y)+(8x+Ty) [} 263] —2x+9y
(ILALIRL 2016 4FJE) —2(5x—y)+(8x+7y)
—10x+2y+8x+7y

—2x+9y




[ 264] 5x—8y—2(2x—3y) [ 264] x—2y
(REFIL 2016 4RE) 5x—8y—2(2x— 3y)
=bx—8y—4x+6y=x—2y
[[%265] 4a+5b—3(a+2b) [[f1265] a—b
(I B I 2016 ) 4a+5b—3(a+2b)
=4a+5b—3a—6b=a—b
[ 266] 6(35_“%)_2@x_y) [ 266] _%
(B 2016 £ B) 22Xy _
6( 3 4) 2(2x—y)
=4x*%y*4x+2y=%
[ 267)] 7x—y—>5x+9y [ 267] 2x+8y
(KFRKF 2016 4EFE A) Tx—y—b5x+9y
=Tx—bx—y+9y=2x+8y
[[5 268] 4(2a—3b)—T(a—2b) [ 268] a+2b
(FRak LB 2016 A7) 4(2a—3b)—7(a—2b)
=8a—12b—T7a+14b=a+2b
[[¥269] 3(5a—b)—2(6a—b) [[¥269] 3a—b
(BHEUR 2016 4E5E) 3(5a—b)—2(6a—b)
=15a—3b—12a+2b
=3a—b
[} 270] 2(a+2b)—3(a+b) [ 270] —a+b
(1R 2016 4E5E —f%) 2(a+2b)—3(a+b)
=2a+4b—3a—3b=—a+b
[271]  4(x—y)—(8x—2y) [ 271] x—2y
(FIIE 2016 4£J) 4(x—y)—(3x—2y)
=4x—4y—3x+2y
=4x—3x—4y+2y=x—2y
[[f272] (a+2b)—(3a—0) [ 272] —2a+3b
(g 2016 ) (a+2b)—(3a—b)
=a+2b—3a+b=—2a+3b
[[273] 8x+y—6(x—y) [} 273] 2x+7Ty
(REAIRL 2016 4FJE) 8x+y—6(x—1y)
=8x+y—6x+6y=2x+7Ty
[ 274] 7(2a—3b)—5(3a—4b) [[f1274] —a—b

(KR4I 2016 4EJE)

7(2a—3b)—5(3a—4b)
=14a—21b—15a+20b
=—a—b




[ 275]

2(a—3b)—3(—a+b)

(BT 2016 4E )

[ 275]

5a—9b
2(a—3b)—3 (—a+b)
=2a—6b+3a—3b=5a—9b

[[4 276]

(8a—2b)—(3a—20)

(FKH IR 2017 )

[[4 276]

5a
(8a—2b)— (3a—2b)
=8a—2b—3a+2b=5a

[ 277]

—2(x+3y)+(x—y)

(FRIRIR 2017 A2 FE)

(4 277]

—x— Ty
—2(x+3y)+(x—y)
=—2x—6ytx—y=—x—"Ty

[ 278]

2(a—3b)+3(a+b)

(iAW 2017 4REE)

[ 278]

5a—3b
2(a—3b)+3(at+b)
=2a—6b+3a+3b=5a—3b

[[4 279]

(2a—3b)—(a—Db)

(BEB IR 2017 4R BiTHD)

[4 279]

a—2b
(2a—3b)—(a—b)
=2a—3b—at+b=a—2b

[F4 280]

2(x—3y)—3(x—4y)

(THER 2017 4REE RiTH)

[ 280]

—x+6y
2(x—3y)—3(x—4y)
=2x—6y—3x+12y
=—x+6y

[FF 281]

8a+b—(a—"7b)

(BRCHR 2017 4R L)

[ 281]

Ta+8b
8a+b—(a—Tb)
=8a+b—at+T7b=T7a+8b

[ 282]

3(Ba+4b)—2(4a—b)

CHriE IR 2017 A48

[ 282]

a+14b
3(8a+4b)—2(4a—Db)
=9a+12b0—8a+2b
=q+14b

[F4 283]

3(3x+2y) —4(x—2y)

(JUALIR 2017 4E )

[ 283]

5x+ 14y
3(Bx+2y)—4(x—2y)
=9x+6y—4x+8y
=5x+14y

[ 284]

3(x—2y)—2(x—4y)

(ZHER 2017 HB)

[ 284]

x+2y
3(x—2y)—2(x—4y)
=3x—6y—2x+8y=x+2y




[F1285] 1 oy 2 B [ 285] 1
5(460& 3b) g(35a 2b) 9 0 b
(RUEBRF 2017 4R thit) %(4661736)7%(3507%)
:23a—§b—14a+ib
2 5
:23a—14a—£b+ib
10 10
=9a—ib
10
[ 286] 6x—3y—4x+7Ty [ 286] 2x+4y
(KRBT 2017 4 A) 6x—3y—4x+ Ty
=(6—4)x+(7T—3)y=2x+4y
[[%287] (4a+5b)—2(a—3b) [ 287] 2a+11b
(Foak LR 2017 4255) (4a+5b)—2(a—3b)
=4q+5b—2a+6b
=2a+11b
[ 288] 3(2x+y)—(x—4y) [[4 288] 5x+ Ty
(BEUR 2017 ) 3(2x+y)— (x—4y)
=6x+3y—x+4y=>5x+Ty
[ 289] 3(2a+b)—(a+2b) [ 289] b5a+b
([ 1110 2017 4E5E —fi%) 3(2a+b)— (a+2b)
=6a+3b—a—2b=5a+b
[ 290] —3x+5y+(6x—4y) [ 290] 3x+y
(10 R 2017 4E5E) —3x+5y+ (6x—4y)
=—3x+5y+6x—4y=3x+y
[ 291] 2Bx—y+1)+(x—3y) [[f1291] 7x—5y+2
(BgE IR 2017 %) 2(3x—y+1)+(x—3y)
=6x—2y+2+x—3y
=Tx—5y+2
[ 292] 3(a—b)—(—2a+4b) [[¥1292] 5a—17b
(‘EIR I 2017 ) 3(a—b)—(—2a+4b)
=3a—3b+2a—4b=5a—"T7b
[ 293] 4(2x—3y)+3(—x+4y) [[¥293] 5x
(FRIRR 2018 4EJE) 4(2x—3y) +3(—xt4y)
=8x—12y—3x+ 12y
=bx
[[H294] (2x+7y)—4(x—y) [ 294] —2x+11y

(FERE L 2018 4R RifY)

2x+Ty)—4(x—y)
=2x+T7y—4x+4y
=2—4)x+(7+4)y
=—2x+11ly




[ 295]

4(3x—2y)—5(x—2y)

(TR 2018 4R 1411)

[ 295]

Tx+2y
4(3x—2y)—5(x—2y)
=12x—8y—5x+ 10y
=(12—5)x+(10—8)y
=Tx+2y

[[4 296]

8(a+b)— (4a—b)

(BE#ER 2018 )

[ 296]

4a+9b
8(a+b)—(4a—0b)
=8a+8b—4a+b
=4a+9b

[ 297]

3(5a—2b)— 2(2a—b)

CRrif I 2018 4£ %)

[ 297]

1la—4b
3(ba—2b)—2(2a—b)
=15a—6b—4a+2b
=1la—4b

[ 298]

5(a—b)—2(2a—3b)

(R F IR 2018 4EJE)

[ 298]

a+b
5(a—b)—2(2a—3b)
=ba—5bb—4a+6b
=atb

[[4 299]

3(x+5y)—2(7x—6y)

(FUEF 2018 4 )

[ 299]

—11x+27y
3(x+5y)—2(7Tx—6y)
=3x+15y—14x+ 12y
=(3—14)x+(15+12)y
=—11x+27y

[ 300]

3x—9y+5x+4y

(KRBT 2018 4 A)

[ 300]

8x—5by
3x—9y+bx+4y
=3x+5x—9y+4y
=8x—5by

[ 301])

9a—4b—2(4a—0b)

(CKBRFF 2018 4E% B)

[ 301])

a—2b
9a—4b—2(4a—Db)
=9a—4b—8a+2b
=9a—8a—4b+2b
=a—2b

[ 302]

32x—y)—5(—x+2y)

(BRI 2018 4E )

[ 302]

11x—13y
3@2x—y)—5(—x+2y)
=6x—3y+5x—10y
=11x—13y

[ 303]

2(3a+4b)— (2a— 5b)

(f LB 2018 ££)

[ 303]

4a+13b
2(3a+4b)—(2a—5b)
=6a+8b—2a+5b
=4a+13b

[[% 304]

2(8x+y)+(4x—y)

(&R 2018 4E )

[ 304]

10x+y
2(8x+y)+(4x—y)
=6x+2y+4x—y
=10x+y

[ 305])

2x—2y+1)+3(x+4y—2)

(F)I1E 2018 4E )

[ 305])

5x+8y—4
2(x—2y+1)+3(x+4y—2)
=2x—4y+2+3x+12y—6
=5x+8y—4




[ 306]

2(2a—b)+3(—a+5)

(IR 2018 4E )

[ 306]

a—2b+15
2(2a—b)+3(—a+5)
=4a—2b—3a+15
=4a—3a—2b+15
=a—2b+15

[ 307])

2(3a+4b)—(2a—0b)

(& 2018 4 )

[ 307])

4a+9b
2(3a+4b)—(2a—0b)
=6a+8b—2a+b
=4a+9b

[ 308]

2(5a+b)— 3(3a— 2b)

(R4 2018 4)

[ 308]

a+8b
2(5a+b)—3(3a—2b)
=10a+2b—9a+6b
=10a—9a+2b+6b
=a+8b

[ 309])

2(2a—b) +3(—a+2b)

(ETIRF IR 2018 42 FE)

[ 309]

a+4b
2(2a—b)+3(—a+2b)
=4a—2b—3a+6b
=4a—3a—2b+6b
=a+4b

[ 310]

3(x—2y)+ (2x+ 3y)

(PRI 2018 4E )

[ 310]

5x— 3y
3(x—2y)+(2x+3y)
=3x—6y+2x+3y
=3x+2x—6y+3y
=bx—3y

[ 311])

4(2a+b)+(@—2b)

(AbHFEiE 2019 AB)

[ 311])

9a+2b
4(2a+b)+(a—2b)
=8at+4b+a—2b
=8at+at+4b—2b
=9a+2b

[ 312])

a+3b—2
—) a —bt4

(FARE 2019 4E )

[ 312])

4b—6
a+3b—2
—)a—b +4
4b —6

[ 313]

2(3a—2b)—3(2a—b)

(FKH IR 2019 4EE)

[ 313]

—b
2(3a—2b)—3(2a—h)
=6a—4b—6a+3b
=—b

[f4 314]

4(—x+3y)—5(x+2y)

(FRYEIR. 2019 4EJE)

[ 314])

—9x+2y
4(—x+3y)—5(x+2y)
=—4x+ 12y—5x— 10y
=—9x+2y

[4 315]

4x+Sy—(x+3y)

(BEFE IR 2019 4 BiTAD)

[ 315]

3x+2y
4x+Sy—(x+3y)
=4x+5y—x—3y
=4x—x+5y—3y
=3x+2y




[ 316] 4(@a—b)—(a—9b) [f4316] 3a+5b
(CRALHD 2019 4E) 4(a—h)—(a—9b)
=4a—4b—a+9b
=3a+5b
[ 317] 2(a+2b)—(3a—4h) [[317] —a+8b
CHrR UL 2019 4RHE) 2(a+2b)—(3a—4h)
=2a+4b—3a+4b
=—at+8b
[ 318] 3(a+2b)—(2a—h) [1318] a+7b
(ZHE 2019 4£5%) 3(a+2b)—(2a—b)
=3a+6b—2a+b
=a-+7b
[ 319] 2(5a—3b)—7(a—2b) [FH319] 3a+8b
(KBRAF B 2019 4J%) 2(5a—3b)—7(a—2h)
=10a—6b—7a+ 14b
=3a+8b
[ 320] 3(2x—y)+2(4x—2y) [[H320] 14x—7y
(FRagk L I 2019 A=) 3(2x—y)+2(4x—2y)
=6 Xx—3y+8x—4y
=14x—"7y
[ 321] 2(@@—2b)—(a+h) [f321] a—5b
(F 1L B 2019 4EBE —fi%) 2(a—2b)—(a+h)
=2a—4b—a—b
=a—>5b
[ 322] —(2x—y)+3(—5x+2y) [ 322] —17x+7y
(R 2019 4EFE) —(2x—y)+3(—5x+2y)
=—2X+y— 15x+6y
=—17x+7y
[[323] 4(2a—3b)—(a+2b) [ 323] 7a—14b
(f@ [ W 2019 4-) 4(2a—3b)—(a+2b)
=8a—12b—a—2b
=7a—14b
[[324]  7x+y—(5x—8y) ([ 824] 2x+9y
(REAR IR 2019 4EFE) 7x+y—(5x—8y)
=7X+y—5x+8y

=2X+9y




[ 325] 6a+b—(3a—5b) [f4 325] 3a+6b
(K3 2019 4EF) 6a-+b—(3a—5h)
=6a+b—3a+5b
=3a+6b
[4326] —3(a—b)+(4a—>5b) [f326] a—2b
(‘EIF I 2019 4E5) —3(a—h)+ (4a—>5b)
=—3a+3b+4a—5b
=a—2b
[ 327] 3(2x—y)— (x—5Y) [ 827] b5x+2y
(f& 5 R 2020 4E%)
[ 328] 4(x+y)—3(2x—y) [ 328] —2x+7y
(AR 2020 45F)
[[329] 3(5a—b)—(7a—4b) [ 329] 8a+b
(HEHD 2020 4E%)
[R5 330] 3(5a+b)+(7a—4b) [F330] 22a—b
CHrE IR 2020 45%)
[ 331] 7(a—b)—4(2a—8b) [ 331] —a+25b
(ZHEIR 2020 4E)
[ 332] (3x—2y)—(x—5Y) [[#1332] 2x+3y
(FLE IR 2020 45%)
[[1333] 2(a+4b)+3(@—2b) [F333] 5a+2b

CFrag L I 2020 4£BT)




[[334] 3(@2x—y)—2(x+Y) [f4334] 4x—5y
(SEUR 2020 45%)
[41335] 4(2a—h)—(—3a+h) [f4335] 11a—5b
(P YR 2020 4R —i%)
[[5336] 4(2x—y)—(7x—23y) [[%336] x—y
(= B5 R 2020 45 %)
[[337] 2(8a—2b)—3(@—2b) [FH337] 3a+2b
(B IR 2020 4E)
[[338] 2(a+4h)—(5a+h) [F338] —3a+7b
(F& [ U 2020 45 )
[R5 339] 2(a+4b)—(—3a+7h) [#1339] 5a+b
(E IR 2020 4E%)
[R340] 2(2a—b)+3(a+2b) [ 340] 7a+4b
CE TR 2021 4£E)
[ 841] 2(@+b)—3(@—b) [ 841] —a+5b
(REFS IR 2021 4R AiTH)
[[342] 2(3a+h)—(a+4b) [F 842] 5a—2b

CHriE IR 2021 4F )




[ 343] 2(x+3y)—3(2x—3y) [f4343] —4x+15y
(Z I 2021 4RE)
[ 344] 4(x—y)+5(2x+y) [[#] 344] 14x+y
(CKBRFF B 2021 4EF)
[R5 345] 3(2a+5b)—(a+2b) [F 345] 5a+13b
(Fak L 2021 4 )
[ 846] 3(x+y)—2(—x+2y) [ 346] 5x—y
(SEUR 2021 4£%)
[[41347] 3(@a—2b)—2(a+b) [f347] a—8b
(P LY 2021 4R —i%)
[R5 348] 3(2x—y)+4(x+3y) [F 348] 10x+9y

(I 2021 4E )

3(2x—y) +4 (x+3y)
=6Xx—3y+4x+ 12y
=10x+9y

[R5 349] 3(2a+b)—2(4a—>5b) [f349] —2a+13b
(F& I I 2021 4E %)
[ 350] x+3y—2(x—y) [[¥1350] —x+5y
(P 2021 4EE —fi%)
[[5351] 3(x+y)—2(x—6Y) [[H1851] x+15y

(REACIR 2021 4F )




[ 352] 3(a—2b)—2(2a+b) [f4352] —a—8b
(Ko 2021 4R %)
[[1353] —4(a—b)+5(@—2b) [f353] a—6b
CETIRT U 2021 4R )
[f354] —(—3x+y)+2(x+y) (R 354] 5x+y
(PRI 2021 4E%) — (—=3x+y) +2x+y)
=3Xx—y+2x+2y

=5x+vy




